x
15

O]l & AF & & M A

2018HE =04 G4 EBIISSEE
I 200 M2
2210 ZAFK Q4
B 211 A4 (EH9l:®e)
3.8 0l Ak o8 Aol aro HRE2
z 46,280,507 54,897,150 |  ~8,616,643
200 M2l +¢ 22,999,212 26,004,150 |  ~3,004,938
210 ZAE NS+ 17,222,598 16,907,728 314,870
211 AT 4 342,895 102,895 240,000
211-02 ZRWAAHE 342,895 102,895 240,000
< ota1 > 342,895 102,895 240,000
O BBot+HeB EXNZSE(SII0ISH) 2,263
O Z2ot+HUR ENHBR(ZALHI) 3,720
O Z2ot+HUE ENHSB(BHYRLH) 67,105
O HaZLHAE ENHER(ZALHI) 29,000
O H+ZZHAR EXNHER(LED AIZ) 807
O HaZ2LHAE ENZS2(R4N SHHSZ 2HI|) 240,000
212 HEESY 16,588,233 16,588,233 0
212-03 GI+ AL E2 16,588,233 16,588,233 0
< otad > 16,588,233 16,588,233 0
O staEBIIYSH3 16,588,233
- BIAE ANBE(MLEE) 12,630,922
p[EE= 4,415,836
SIEIE= 2,509,888
=g 269,401
selg 5,435,797
- B4 E ABE(Xot:E) 3,957,311
p[EE= 11,643
ST 3,054,561
=98 170,956
srelg 720,151
213 #4249 91,470 72,600 18,870
213-04 JIEt%%2 91,470 72,600 18,870
< Bt > 91,470 72,600 18,870
O BBot+HUY ZHYLH MBS 2(1%) 4,500
O HAZSLHY ZHUN MBI 42(2%) 22,000
O dtadel® 2xdel 448 64,970
216 O Xt==2l 200,000 144,000 56,000
216-01 ZZ 020X+ ¢ 200,000 144,000 56,000




20188 &= =0l &t

ol

200 Al2l=+=¢

210 o HAM A=

b=

0
Jm
e
ton

216 0| Xt ¢! (2r9:88)
B.8-.2 0l &k o8 B ol kel Bl =2

< Of==1t > 200,000 144,000 56,000

O ot=&E352 200,000

- 330= 200,000
220 LAIE M2 == 5,776,614 9,096,422 A 3,319,808
222 23 2,506,614 6,400, 100 A 3,893,486
222-02 dered 2,506,614 6,400, 100 A 3,893,486
< of==1t > 2,506,614 6,400, 100 A 3,893,486

O ot=&E3D 2,506,614

- 230t= 2,506,614
224 J|Et==2 3,270,000 2,693,322 576,678
224-06 12l +¢ 3,270,000 2,693,322 576,678
< of==1t > 3,270,000 2,693,322 576,678

O SASNNI| thE=+ Hel 150,000

O dt=selXl Hdel 70,000

O H=32HX el s Al 2 2,900,000

O H=32ZHX aH rab= 150,000
00 EX£3 14,901,750 22,893,000 AT7,991,250
510 = DE2X3S 14,193,000 22,057,000 AT,864,000
51 3 08X3S 14,193,000 22,057,000 AT7,864,000
511-01 2 DEXZF 14,193,000 22,057,000 A7,864,000
< Oof==1t > 14,193,000 22,057,000 AT,864,000

O sd0I82 =2H UMY 2,828,000

O DRNRE 012545 FHHIAL 685,000

O HEE Ot 622,000

O Z4tot=2t 4 FHl BTLAIY A4 2= 4,602,000

O SHXT st42) ZUlAY 1,832,000

O L=ot=& 500,000

O Jhebx = 1,955,000

O HZ X+ 989, 000

O ZMIEX 180,000
520 Al - SHIEXZZ=S 708,750 836,000 A127,250
521 Al - EHIE X3S 708,750 836,000 A 127,250
521-01 Al - &4 708,750 836,000 A 127,250
< of==1t > 708,750 836,000 A 127,250

O 8ZIIx=A & 420,000




20188 = 20 & St==SIIHSE A

& 500 ExX3
2 520 Al - SHIBEZ2S
8 521 Al- CHIEESS (2r9:88)
Z.2-8-2 0l &k o8 B ol kel Bl =2
O 2UBEBHRELIAY BTLAY A& 20E 206,000
O SAXT st42H HElAY 78,000
O SMOIBAE NAANY 4,750
700 EMd=ASHUEHN 8,379,545 6,000,000 2,379,545
710 B82S 2,000,000 0 2,000,000
711 0= 2,000,000 2,000,000
711-01 =AIAHLAHS 2,000,000 0 2,000,000
< ot==1t > 2,000,000 0 2,000,000
O &=HHYS 2,000,000
720 LHS A cH 6,379,545 6,000,000 379,545
721 Y3 6,379,545 6,000,000 379,545
721-03 JIEISI AN L S 6,379,545 6,000,000 379,545
< of==1t > 6,379,545 6,000,000 379,545
O 2esIH 8= 6,000,000
O +FNLSHEH HAS(ILEHB2IIIB) 379,545
~EQUEST 42N FHAL 56, 186
SOMMXIT DS AT HHIAIY 125,667
~0ZXT OHSS4E HHIAY 63,566
-DRMURE 0I254E AL 44,062

- SMX T of=2t01 HUlALY 90,064
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2AM: Gt
M St 301g2el
©el: St AIE 22l (Bt=E 3P SEIH)(St=E3INESE3A) (Sl & &)
SA - BB B () - MM - BES Ol &t o4 Sa HimEET
O Z&&MIIFH ot=2H FHISAM 100,000
03 A& =2 THHI 9,216 10,000 AT784
O AIZ 201l 9,216
St=5 ME0IF Hel 185,940 125,940 60,000
201 £B-2dH| 55,800 55,800 0
01 At 22/l 2,000 2,000 0
O dl#+=% AN (L) 2,000
02 23224l 53,800 53,800 0
O 22X AAsiEE= 4,500
O 2EXNYE RF7U ¢ A= 28,300
O 8l=&0l E4EA XMl 21,000
202 04l 2,640 2,640 0
01 = LH o4 bl 2,640 2,640 0
O ot+=Z0ld 8E38Z 2,640
206 T2 HI 37,500 37,500 0
01 =8l 37,500 37,500 0
O ot=% |X2cl NN 7 37,500
305 a2 S 30,000 30,000 0
01 tia=S 30,000 30,000 0
O otk ME0AZA Eoftia= 30,000
401 AIEHI L 20HEI 60,000 0 60,000
01 A& Hl 60,000 0 60,000
O o=k Z£& FASL & 0 M= 60,000
Kot=2el HE A 115,860 51,148 64,712
101 14 Hl 49,794 40,948 8,846
04 JIZHHZ22XEES 49,794 40,948 8,846
O JIZHZ2X(Kot+=2& 2 Kot H
g 20) B4 49,794
201 £B-2d| 6,900 10,200 A 3,300
01 At 22l 3,300 6,600 A 3,300
O KXot 23 EE Z2ALE SXE2H| 3,300
02 2324l 3,600 3,600 0
O XNot=2d& 2EXd FFH E =44l 3,600
401 AIEHI L 2CHEI 10,586 0 10,586
01 A& Hl 10,586 0 10,586
O UXNEAHEI SN2 SIOHH Y 10,586
405 THAHE SH 48,580 0 48,580
01 HetL S = S| 48,580 0 48,580
O PEARAFI| 7 48,580




2AM: Gt
M St 301g2el
©el: St AIE 22l (Bt=E 3P SEIH)(St=E3INESE3A) (Sl & &)
- _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HimEET
SS9 X ¥ Zel(dt=2) FH)-52, 0182 3,440,000 1,000,000 2,440,000
T ot FHIAY
= 2,828,000
Al 612,000
401 AIEHI L 20 3,440,000 1,000,000 2,440,000
= 2,828,000
Al 612,000
01 A& HI 2,930,000 845,000 2,085,000
O =Y0IEEF ot=2H HHlAL 2,930,000
= 2,828,000
Al 102,000
02 Zteltl 500,000 150,000 350,000
O SA0IE=F ot==21 FHA Zeltl 500,000
03 A& =TI 10,000 5,000 5,000
O SL0IEEF ot==2H HHAS 10,000
SS9 X ¥ Zel(st=2HEH)-3LEF ot 500,000 0 500,000
2 ZHIALY
401 Al HIZ 2018 500,000 0 500,000
01 A& HI 300,000 0 300,000
S22 ot=2H FBIAE 300,000
02 Zeltl 198,000 0 198,000
O 2g¢=+ ot==21 FHAE 198,000
03 A& = THHI 2,000 0 2,000
S22 ot=2H FBIAE 2,000
St==ol Xl & el (dt+21FH)-8MH dta2H 2,000,064 3,688,000 A 1,687,936
ZHAY
= 1,832,000
< 78,000
Al 90,064
401 A& HIZ 201 Y| 2,000,064 3,688,000 A 1,687,936
= 1,832,000
< 78,000
Al 90,064
01 A& HI 1,635,064 3,183,000 A 1,547,936
O SHXF ot=2H ZHIAS 1,635,064
= 1,482,000
< 63,000
Al 90,064
02 Zeltl 365,000 500,000 A 135,000
O 2MXF ot==21 ALY 365,000
= 350,000
< 15,000
SS9 X Y Zel (St HEH ) -Fdt+2=2 1,000,000 0 1,000,000
DH & At
= 500,000




2 541
B sac Il e
S ol A 22 (ol ZBIIHEESH ) (oL ZBI P EL 3 (2 &HH)
- _ _ RE]
SA BB (3H) - HRAY - B Ol At o8 %@ﬁ HRE2
Al 500,000
401 AlEHIZL £ 0HY| 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 Al&EH| 1,000,000 0 1,000,000
OLSol422 WH L EALY 1,000,000
= 500,000
Al 500,000
StaEol HX % Bel(S0ENSoHEEHU)-D2 729,062 5,425,000 4,695,938
MZE OFS0ts=E EHIZ2AH
2 685,000
Al 44 062
401 AIEHIZL 2 0HY| 729,062 5,425,000 AN 4,695,938
2 685,000
Al 44,062
01 Al&H| 309,062 5,420,000 A5,110,938
O D22 % OFSota=E U2 AL 309,062
= 265,000
Al 44 062
02 22l 420,000 0 420,000
O DZANZE 0tSole=T HH|lSAt 420,000
= 420,000
Stamol #X W B2l (SOE0HSoH4 = HH)-Dta 2,793,000 0 2,793,000
XN+ 0tSote+T HUAY
= 1,955,000
Al 838,000
401 Al HI L £ 0HHI 2,793,000 0 2,793,000
= 1,955,000
Al 838,000
01 Al& H| 2,543,000 0 2,543,000
O JhaXI T OF2dtx=5 EHIAY 2,543,000
= 1,780,000
Al 763,000
02 2teld| 250,000 0 250,000
O JIaXI 2 OtSota=% EHIAY 250,000
= 175,000
Al 75,000
ot4=E9 AX L A2 (sH=0IS6t=EHH|)-0{ 2 1,413,000 0 1,413,000
XN+ 0S5t HUAY
= 989,000
Al 424,000
401 AlEHIZ 2 0HY| 1,413,000 0 1,413,000
= 989,000
Al 424,000
01 Al&H| 1,163,000 0 1,163,000
O HEZXNF Otsot=% EHIAY 1,163,000




2AM: Gt
M St 301g2el
©el: St AIE 22l (Bt=E 3P SEIH)(St=E3INESE3A) (Sl & &)
- _ — d =
SN FE - EA(SA) - MEAY - BES 0l &t o il HimEET
= 814,000
Al 349,000
02 Zeltl 250,000 0 250,000
O WHZXF OtSdt=% HHAL 250,000
= 175,000
Al 75,000
St=&o Xl 2 Zel(sHEtSot==8H)-0 & 622,000 0 622,000
T OtSot=% ZHISA
= 622,000
401 A& HIZ 201 Y| 622,000 0 622,000
= 622,000
01 A& HI 517,000 0 517,000
O ¥ OtSot=& FHAY 517,000
= 517,000
02 2teldl 105,000 0 105,000
O HEZ OtSot=& ZFHlALY 105,000
= 105,000
St==9 AX ¥ 2el (ot=2tHFHIBTLEUE) 6,664,000 6,664,000 0
= 4,602,000
< 206,000
Al 1,856,000
402 2I2H X201 M 6,664,000 6,664,000 0
= 4,602,000
< 206,000
Al 1,856,000
03 212t & AL S HI 6,664,000 6,664,000 0
O Z4otot+=2t1F 8l BTLAIY AIE2HZ 6,664,000
= 4,602,000
< 206,000
Al 1,856,000
ARG 2t A FHl BTLALE AIE 2 Z Hl 1,440,000 1,410,000 30,000
402 RIZEX201 A 1,440,000 1,410,000 30,000
03 212t & AL S HI 1,440,000 1,410,000 30,000
O Z4tot=2tHEHl BTLAIE AIE 23 HI 1,440,000
S S SR 846,274 842,274 4,000
101 @124l 46,800 46,800 0
04 JI12ZtHZ22HEE = 46,800 46,800 0
O MEXIY =534 F4002Y 46,800
201 £e-2dH| 139,134 132,134 7,000
01 At 22l 73,634 66,634 7,000
O 2234 ANd |FRXNE=H S 62,034
O 38 € Hesdd BAEE 7¢ 11,600
02 =224l 65,500 65,500 0
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